


www.extrememarquees.com.au     1300 850 832

WHAT YOU’LL NEED
Drill
Socket Set
Ladder
Mallet
Forklift / Crane / Scissor Lift *
Tape Measure
Stringline
Level
Marking Pencil
Stanley Knife
Alan Key (supplied)

Warning read instructions carefully before use.

Recommended procedure to follow in this document. 
For safety reasons it is recommended that four persons  
set up any Crest Marquee.
Ensure area is free from any sharp objects & overhead objects.



www.extrememarquees.com.au     1300 850 832

SETOUT PLAN



www.extrememarquees.com.au     1300 850 832

ELEVATION



www.extrememarquees.com.au     1300 850 832

PACKING LIST

Packing Number Item Name Specifications Unit Qty U.W. T.W. CBM

base plate for side legs 265*265*180 PCS 8 2.2 17.6

eave connnector 226*268*260 PCS 8 4 32

top cap Φ290*346 PCS 2 2.34 4.68

ridge connector 113*113*500 PCS 2 4.5 9

bolts M10*100 PCS 10 0.1 1

bolts M10*35 PCS 10 0.01 0.1

nuts M10 PCS 10 0.01 0.1

roof cover 2350*6000 PCS 2 16.99 33.97

plastic bar for installation Φ8*6000 PCS 8 0.7 5.6

side wall cover 2560*5900 PCS 8 17.84 142.7

packing bag for roof cover 1100*600*300 PCS 2 1.4 2.8

packing bag for side wall 1000*450*400 PCS 2 1.148 2.296

weight bearing plate 500*760*20 PCS 8 15.67 125.4

expansion bolts M12*120 PCS 18 0.13 2.34

big washer Φ14*Φ40*3 PCS 18 0.03 0.54

bolts M16*30 PCS 18 0.16 2.88

flat washer Φ20*Φ50*3 PCS 18 0.03 0.54

PVC bag with logo for bolts 100*250*400 PCS 2 0.59 1.18

21#

第1页（共1页）



www.extrememarquees.com.au     1300 850 832

Lay out 4 x Eave Rails and 4 x Corner 
Connectors as above. 

Fit together as shown. Insert 4 x Roof Beams to Corner Connectors 
then fit Roof Adjuster (make sure it is wound 
down to the lowest point). 

 Page 1Pinnacle 6m x 6m

Lay out 4 x Eave Rails and 4 x Corner Connectors 
as above. 

Fit together as shown. Insert 4 x Roof Beams to Corner Connectors then 
fit Roof Adjuster (make sure it is wound down to the 
lowest point). 

1 2 3

Conical Cone

Extension Pole



www.extrememarquees.com.au     1300 850 832

Fit roof over the frame. Fit Roof Keder into outer sail track on the side 
of the Eave Beam. Insert Kedar strip into the 
top of the roof in this same track. 

Repeat on all sides. 

Fit foot plates to all legs using 2 or more 
people. Raise one side and fit 2 x legs. Fit 
extension pole and conical cone before fitting 
remaining legs. 

 Page 2Pinnacle 6m x 6m

Fit roof over the frame. Fit Roof Keder into outer sail track on the side of 
the Eave Beam. Insert Kedar strip into the top of 
the roof in this same track. Repeat on all sides. 

4 5

Fit foot plates to all legs using 2 or more people. 
Raise one side and fit 2 x legs. Fit extension pole 
and conical cone before fitting remaining legs. 

6



www.extrememarquees.com.au     1300 850 832

Raise other side and fit legs. 

Make sure Marquee is secured to ground by 
approved methods. 

Fit walls into sail track. Wind up Roof Adjuster until tight.

 Page 3Pinnacle 6m x 6m

Raise other side and fit legs. 

Make sure Marquee is secured to ground by ap-
proved methods. 

Fit walls into sail track. 

8 9

Wind up Roof Adjuster until tight.

7



www.extrememarquees.com.au     1300 850 832

Assemble Frames on ground and prepare for erection.1



www.extrememarquees.com.au     1300 850 832

Roof Cover2



www.extrememarquees.com.au     1300 850 832

Upright Support3



www.extrememarquees.com.au     1300 850 832

Sidewalls4


